
Part Code Description

REF. BWHTRS12
Revision: 00

Item

BWHTRS12-01-01 Die M12 x 1,25#

 

 

#

#

#

#

#

# Cutter holders

# Cutter adaptive holder

# Thread gauge and key

BWHTRS12-01-02

BWHTRS12-01-03

BWHTRS12-02-01

BWHTRS12-02-02

BWHTRS12-02-03

BWHTRS12-03-03

BWHTRS12-04-01

BWHTRS12-04-02

Die M12 x 1,50

Die M14 x 1,50

Tap M12 x 1,25

Tap M12 x 1,50        

Tap M14 x 1,50




